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http://www.math.tku.edu.tw/chinese/index.htm
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http://www.chhs.tp.edu.tw/teacher/083/mathweb/mathers/Pythagoras.htm
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http://zh.wikipedia.org/wiki/%E6%97%A0%E7%90%86%E6%95%B0
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T |A={XY)]0=X=1>0=Y=1} (XY) | X,Y)eA» X>2+Y> <1}
V2 A= (X 0=Xx=2) (X | XeA>» X?<2}
Y2 |A={X]|0=X=2} [X | XeAr X*<2)
42 |A={X|0=X=2} (X | XeA» X* <2}
3 A= {X|0=X=3} {X|XeA X*<3}
Y3 A= {X|0=X=3} (X ]| XeA>» X*<3}
43 |A={X]0=X=3} [X|XeA>» X*<3}
el | A= {(X)Y) | 0=X=1>0=Y=1} (XY) | (XY)eA 4X>+Y* <1}
Eif | A= {(X,Y,Z2) | 0=X=1:0=Y=10=Z=2} (XY,2) | (XY.Z)ea  X*+Y? <1
;‘ji?% A= {(XY.2) [ 0=X=1>0=Y=1>0=Z=2} (XY.2) | XY.z€eAs X2+Y? +(Z —1)2 <1}
[ENEE | A= {(X,Y,Z) | 0=X=1>0=Y=1>0=72=2} , , 7\?
(XY.2) | (xY.2ea X +Y (I_Ej <0}
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A B C D E
T =rand() =rand() =A1"2+B1"2 =countif(D1:D100000,”<1")
\/E =rand()*2 =A1"2 =countif(D1:D100000,”<2”)
3\/5 =rand()*2 =A1"3 =countif(D1:D100000,”<2”)
42 =rand()*2 =A1"4 =countif(D1:D100000,”<2”")
\/g =rand()*3 =A1"2 =countif(D1:D100000,”<3”)
3\/5 =rand()*3 =A1"3 =countif(D1:D100000,”<3”)
% =rand()*3 =A1" =countif(D1:D100000,”<3”)
fiEled | =rand() =rand() =4*A1"2+B1"2 =countif(D1:D100000,”<1”")
[Eff= | =rand() =rand() =rand()*2 | =A1"2+B1"2 =countif(D1:D100000,”<1”)
?ﬂ?g =rand() =rand() =rand()*2 | =A1"2+B1"2 +CI1-1)"2 =countif(D1:D100000,”<1”)
[EV&E | =rand() =rand() | =rand()*2 | =A1"2+B1"2 -(1-C1/2)"2 =countif(D1:D100000,”<0)
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